ML B3R e

!
BT E i;:nc::n:c% SHf2
etz

—

#E
Y

I >

L 4 Cwd
15 %ﬁl‘% C Deadd [00‘0‘)

g5 770  (1850F3/Mm’) \lkg = 4 g
/#(ﬁ 7.0 [c,g, 98.«/5“ 5N
-FU3I=Hn 275

. GRBNIT7Y)-k 245
cPLRVR D 79+ 945

11

- 279+ 230 K TP iBece

AL FITIL 2.0 L GEAt 770 x Bk o
A g4 $.0 @EH
-YR7PIUE 22.5

2 7227ILF 22.5x \oluwe

’ﬁ)ﬁﬂl / = F’v#'ﬂfg:tgww

< lwv]vw o Surt fERIT 3.
T G2 e BhddZBd+ B = CAFCBE e 1EMA Lud.

M b RS Th 3t R




;é?%[% (Liue (OO\DU
2 Bénd A FIR Ry
- Hff et %80 7352

X géﬁiﬁr% c THE LB 9B B0BEDs LS

L & Zie cars
k@-/ l"’.?"' 7é($ 602) o ©
K% .70\ |
Hee @: NN e v
_BOKN XY Cog oyt ]
£%cFau2
Al B2
> KBERARER " > 8% @ (KBERD))
Ty 0 B3 B B
{ggag
L. S7s062%

) BFER (THE 1T 10 V/m? (Am&EIE 1¢)E (Om
Bt (span& /1%%) B W R 5.5m = M2,
REL, 20 0EP5 (Z 5.0 e Vim® 2T 3.
S8 kIR p2 (Lofo SEBTRVOTE) T 3.0 kel
(BB sk 5. 5m (BRI TES 2aaIP5 (2 1.5V n2 33
M EBEBTZE BRAE = %33



1) B¥ER (TH2)p1 T A0 /md (An EEIE) 16 )T (Om
Bz (Span& /18 '% B B8 & 5.bmi= feR1t3.
REL, 2o 0FP% (F 5.0lc Vim? 3 3.
I8 57fR p2 (Lofo BBBTRNAZ) T 3.0 EVmeel
BB 3 5.5m (EHAEE3. 200 3P5 (371 5EV/moe83
N EBBTSE BT =% F'3.

(cZEFR: FRI+A09+ + 2 HF)

Ve
.
-
-
-
-
-
.
.
-

Question : BEFNB (TS ) 1z 2= (ERZ3e
1% RE= R367 (BFEREH)7

- BT B BE R I BFHRER> 3 h/=
2180 =832 i

— - e =
Influence [tne 23

NG

!




FEZ@ gz 2

1: BTB7B

2: (B . tFEHR
208 -
4"- S??%]% [ Ac-

200 % 265 = PN = 3as,

BB FEE (21:) [O0m, BB 29m B 1=

Z¥H2 (THE)pr e 10E/m (I &EIE) 16)E (On
Bt (Span& /;%&) B m8 R 5.5mI= fER1T3.

&L 20 0EP5 (? 5.0 | vm® 293,

I8 AER p2 (Lafo BBBTRYNMTR) T 3.0 FNmeel
MB35k 5.5m (FRLETE3. 200 TP5 (3 15EN/m=£F3
M ERPTZE BT = F 3.



